Wkst 3.4: Predicting Products of Chemical Reactions

Dart A: write the products in a balanced chemical equation for the following reactions, and give the type of
the chemical reaction.

EQUATION TYPE
I, CMnOgs + 3K > 3KMnO. ¢ Cr - pslglge'%em
2. 4 Na + C > NasC ' Combination
3. VINO)s  + 5AGCHCO: > V(CHiCOzs +  5AgNO: Disgg‘;g'ﬁem
4, 8 SClo > Sg + 8 Cl2 Decomposition
5% N2 + 3 H2 2> 2NH3 Combination
6. MnCO); +  3Zn > 3ZCOs  + Mn dispsl;’;ge';em
7. FeNO2 + MgOHp > MgNOJ. +  Fe(OHp 4 oowe
isplacement
8. 8 F> + Ss > 8 Sk, Combination
9. 2HPO, + 3HgOHp > ‘Hga(PO):  + 6 Hz0 Neutralisation
0. 2CHo + 130, >  8C0  +  10HO Combustion

11. CaHCOz > Ca + H + 2C + 302  Decomposition
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To burn 38 L of gasoline in an in-
ternal combustion engine requires
77 000 L of oxygen or-390 000 L
of air. This is the amount of air
breatﬁed by 30 people in one day.
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1. a. 2C2H2(g) + 502 —_—
4C0,(g) + 2H,0(g)
combustion
i b. Zn(s) + CuSOslag) —
A ZnS04lag) + Culs)
single replacement
c. Clylag) + 2KlI{ag) —
2KCl{ag)} + I{aq)
‘ single replacement
d. 2H,0,(l) — 2H,0() + O,lg)
2 decomposition
e. MgCiy(s) — Mals) + Cl;
decomposition
f.  Fels) + I,(s) — Felyls)
synthesis
g. 16Culs) + Sell ) —> 8Cu,S(s)
. synthesis
h. CgH1206(ag) + 60,{ag) —>
6CO.faq) + eHQ)(l )
combustion
i. FeClylag) + K;Slag) —
FeS{s) + 2KCl{aq)
double replacement
H,S04(ag) + 2NaOH(ag} —
Na,SO4laq) + 2H,0(/}
double replacement, water forming
Pb(NOs)2(aq) + K,CrOg4lag) —
PbCrO,ls) + 2KNOglaq)
double replacement
I, 4Cr(s) + 3SnClslaq) —
4CrCls(ag) + 3Snis)
single replacement
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m. C,HsOH() + 30,(g) —>

2C0,(g) + 3H,0(g)
combustion

. Zn{s) + MgSQyulag) — N.R.

. Cdfs) + Ozlg) — CdO(s)
HgO(s) — Hg(l) + O.(g)
. HCl{aq) + KOH{aq) —
KCl{ag) + H,0(/)
csH12(l) + O.lg) —
CO,(g) + H,0l(g)
Sr(s) + O,(g) — SrO(s)
. Brylag) + CaClylag) — N.R.
. Zn{s) + Ni{NQ3),(aq) —
Zn{NO3;),{ag) + Nils)
ZnS04laq) + SrClylag) —
SrS04(s) + ZnClylag)
AlCls{ag) + NaCOalaq) —
' Aly(CO3)3ls) + NaCl{ag)
Fe(s} + Sgls} — FeS(s)
CeHsll ) + Oolg) —
CO,lg) + H,0(g)

m. Pb(s) + KNOslag) — N.R.
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. water-farming
. combustion 4

. HNOg(aq) + SI'(OH)z(aq) —

Sr(NOs)alag) + H,0( )

. Znis) + MgSO0ylag) — N.R.
. 2Cd(s) + O,lg) — 2CdO(s)

2HgO(s) — 2Hgl!) + Oslg)

. HCl{ag) + KOH(ag) —

KCl{ag) + Hzo(l)

. C5H12([ } + 80,(g) —

5C0,(g) + 6H,0(g)
2Sr{s) + O,lg) — 2SrO(s)
Bralag) + CaClylag) — N.R.

. Znfs) + Ni{NO3),laqg) —>

Zn(NOa)slaq) + Nifs)
ZnS0glaq) + SrCl{ag) —

Sr804(5) + ZnClzlagq)
2AICI3(aq) + 3Na,COs(aq) —

* Alp(CO3z)als) + 6NaCl(aq)
8Fe(s) + Sals) — BFeS(s)
ZCGHs(l ) + 1502(g) —_—

12C0,(g) + 6H,0(g)
Pbis) + KNOslag) — N.R.
-2HNOs(ag) + Sr(OH)zlag) —
‘ SHNO3)zlaq) + 2H,0(/)
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. synthesis,: chbustlon
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double replacement
double replacement
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